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Wonder, R.J. Palacio – 61-67	 


1) How does August’s precept show his appealing personality? (appealing = people like it) 
Explain two ways, using evidence from the text to support your answer. 

Circle the correct answers below 

A= The precept shows that August is thoughtful/rude and down to earth/snobby


2) Do you think August is bothered that not many people from school have gone to his party? 
Yes
No 
Maybe 

Explain your choice fully, using evidence from the text. There are some ideas below to help you.

3 marks= 3 acceptable points
3 marks = 2 acceptable points with one supported with evidence. 

Because he keeps asking his mum questions: ‘What kind of plans?’ 
Because he says ‘So that’s it…that’s like five people’ 
Because he says : ‘My birthday party turned out to be much smaller than I thought it would be’ 
Because he didn’t get upset: ‘I laughed because I thought she was making a joke…’ 
Because he said : ‘It really felt like there were a lot of people there to celebrate.’ 
This shows that h


Define the following words:

Notion 

Eventually 

Honour 


